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Note: (a) All questions are compulsory.

(b) The candidate is allowed to make Suitable numeric assumptions wherever r %zre

for solving problems

Q.No Question
Ql Answer the following in brief. : N,
(a) | Briefly differentiate between Prismatic and surveyor compass.
purposes these are used? N s
(b) | What do mean by RF in scales N, CO-7:li
(c) | You are given the task of conducting surveying in.a‘crowed area. How will [ CO-1 |1

2 S ]
you carry out surveying operation? Which method will you adopt?
(d) | We want to establish a Bench Mark (Bmii?ﬁzhng{‘@onstmction site. Which | CO-3 | 1

type of levelling operation will you Qerf@n%éfo? set of BM. Explain the
pI‘OCGdure. . 5

4B
Q2 The following consecutive readitigs

Al [ CO-1 |2

Wer: *faken with a level and a 4 m | CO-3 |5

b “&:
b S
levelling staff on a continuouslys ng ground at common interval of 20 m.

155(onR), 1.54, 2457315, 3.65 045 125 255 2.8,
345, 0.85, 1.15¢%]1.85, ¥2.75, 325, 3.5, 3.90 (on S)

Make entries in & level bqok and apply the usual checks. RL of P was 250 m.
Determine the gradient of RS.

Q3

(a) | Define'the scnsifiveness of the level tube. CO-3

Fa PN

N | —

(b) | When-the bubble-is at the centre, the reading on the staff, 200 m from the | CO-3
leVel, 15:2.550 m. The bubble is then deviated by five divisions and reading on
fis 2.5 m. If the length of the one division is 2 mm, calculate the radius
of curvature off the bubble tube and the angular value of one division of the
bubble.
Q4 Explain the Principle of plane tabling. Suppose during the plane tabling COo4 |4
operation you have to shift your station to another place. Name and explain
the different operation to establish new station.

Q5

(a) | What is contour interval in a contour map? Why is required to keep it | CO-4 | 1
Constant
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(b)

Below down is a contour map having contour interval equal to 50 m. The scale
of the contour map is lcm=1 km. Two points as A and B are marked at two
contour lines. Compute the slope of the ground between these two points.

CO-4

Q6

Two points R and Q are 2000 m apart acros%g@m e river. The following
reciprocal levels are taken with one level: it

Level at %

v R
R 1.205
Q 0.405

Calculate the true dlffereQCe ofttgeilevel between A and B and error due the
refraction and curvature. Assuﬁe there is no collimation error in instrument,
If Reduced level of; point A 1§«~”’320m calculate the RL of point B. Apply the
correction in sta g‘;f readﬁgg@ho if required.

CO-2

5‘
%f#ﬁv

*%wf’
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